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2025 A& HITE RIS % R 2 IEf aitme

R LR TR 4L AR bR B 1M R T 55 4 L AR o

TR ST R
1. (1) [ EfZZ] (1000+1000X4%X5) X (P/F, r , 3) =1020
(P/F, T , 3) =0.85
##%: (P/F, 5%, 3) =0.8638, (P/F, 6%, 3) =0.8396,
(r ,—5%) / (6%—5%) = (0.85—0.8638) / (0.8396—0. 8638)
,=5.57%
E’Jﬁxﬁziﬂﬁ:ﬁ
+6%/2) *—1=6.09% ‘
RN R IE AZE%'JZAZ, FIT AN iZ 4 T 523 \1%
I — VB AAT B, FTLL, BTS2 1 AR A
%J?ﬁwﬂﬁu 3 4.
AR A= 300000/ (P/A, 3%, 10) =35169. 16 (
%JE,TA, SEM20254E 1 H 1 HE20284E1 A 1 H
3%, 6) =11075.83 (JT)
=35169. 16—11075. 83=24093. 33 (J©)
KR PR AN R B R A, AN E&}Zéé?aﬁzﬁ%ﬂw%ﬁwﬁﬁt HF

) SEHAEI K, A BRI “HNERKR, (14
b#ﬂﬂu@%%ﬁﬁ%ﬁmmﬂﬁ,
gEK, I AT AR S T 5

TIRE, I LT Ak e T %
T .

5

FREHE
Eif\
)ﬁ —

=
AR

%

N N

=
SO

m_wz
H-H

[: ooo+1ooo><4%><5; 0T ie

—~f
o=
gmﬁr

i
=

) \
6 /M 5k HAFORA i

gl

6
l

IO

SN 2T B~

>

LESHEAANFAS nEEEENY

RFHE FHFSFWEFIS 0 25 ||

ERE—E

B3

o g
o
o |l
E)kv

™ e o

N

P S A T

=
HT
MBI MR TN E T

U .ES%‘\‘K

ISR S TEE A
S
I

REPEAISSIF S EY” Y

5 A AR %i‘i"
=\

SRSISIS oy
SB35

o
Juiss
S

<QEODOEE  ERs AN EAT T
Seyesdlm BeRCeE
&

[\\)
N
>

)

=
i
M

[\
o~
X S
)
il
ar
S{Eﬁu

f

PEay
I

FRap K =100X (1—20%) /[1680—100X (1—20%) ]=5% (1 4}

[#7x]
ARG
= CED A e IR S 98 7 T A OB R B B P B 2 e O A A B A7 36 ) | (A — Bk i ) e x AR B 7= o 2 B0 A A S 5 P B R Al o< A ) B A7 %)
= RGN / IR < AR B AR — ORISR / AR BARRED) * A B A7 % ]
= CRMARNEEAE / AR HRBGED M — CRIAFNEEAE / ARB ARG ]
=S B AR AR AR — A R B A2

LJ<L3) [ERAE 2] SRR B =1 B B BN — AWIRE A, WEHE KRR TRy 0, B

1750 X K —2500 X (1+HEKZ) X (100/2500) X (1—20%) =0

B3 WEHKR=479% (24)

(D DIEMEZR] AR ST R=1750X8%=140 (Jjt) (143 -
9(#?5&%)&%@:%%%%%%*—zlxﬁﬂﬂﬂﬂ%jﬁzmo—%oox (1+8%) X6%X (1—20%) =10.4 (JiL)

[Answer] (54)
(1) The sustainable growth rate refers to no share issuing or buyback, no change on business
efficiency and financial policy, the enterprise can reach the maximum growth rate.
If the enterprise have no financial assets can be used, and cannot or does not plan to finance
from outside, thus, it only can rely on internal accumulation, it will limits the growth
of sales, this sales rate is the internal growth rate
The followings is the assumption of sustainable growth rate
(@D The net sales interest rate of enterprise will be maintained at current level, and covers
the increased interest of debt.
(2 The turnover rate of enterprise will be maintained at current level.
@ Currently, the capital structure of enterprise is the target structure, and plans to
keep going on.
@ Currently, the enterprise’ s retained profit rate is the target retained rate, and plans
to keep going on.
® Unwilling or no planning issuing shares (including the shares buyback)
(2) The sustainable growth rate in 20X2=100X (1—20%) /[1680—100X (1—20%) ]=5%
(3) 1750XGrowth rate—2500X (1+4Growth rate) X (100/2500) X (1—20%) =0
Solution: Internal growth rate=4.79%
(4) The total financing demand=1750X8%=140 (ten thousand yuan)
The flnancmg amount fromoutside=140—2500X (1+8%) X6%X (1—20%) =10. 4 (ten thousand
yuan)
3. (D) LIEMIER] H— BB R
20X 8 4 6 HAL: JT

| S
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2

FFeitAg

2025 M4t I A XA T %5 B EE www.chinaace.com
HAIAEF= il A 4500 3360 5460 13320
AHEHRH 19260 29580 49440 98280
it 23760 32940 54900 111600
Ay 72 108 180
56 T2 Bt e Y 20160 30240 50400 100800
A ARAE = il 3600 2700 4500 10800

29

RGATLER

BRI 247 B =280+50=2330 ({f)

BRI IE %R =23760/330=72 (JT/f)

56 T2 B 5 LR R =280 X 72=20160 (J0.)

BN TR 2% B 20 247 8 =280+50 X 50%=305 ({4}

BN T Z =232940/305=108 (JC/fF)

T2 TR B N T.=280 X 108=30240 (7T.)

#1138 3% 40 it R = 54900/305=180 (JC/4F)

56 12 B % H i 97 =280 X 180=50400 (JG)

PR SA T

20X 8 4F 6 F HfL: JT

R E&M ?%}\ EJL%% o
HWIALE = A 4800 (1440 624 1840 8704
A H BNA 100800 [32760  [16476  [49460  |199496
&it 105600 [34200 |[17100  |51300  |208200
BaN L 352 120 60 180
6 L7 R % 95040 (32400 |16200  [48600  [192240
H ARAE = il 10560 |1800 900 2700 15960

(24

THE U -

R AL A B =2704+30=300 ({})

2 B 2 L 26 =105600/300=2352 (J/44)

SE L7 R n % 2P Bl =270 X 352=95040 (JT)

BELAEARL . BN TANIE 9 22477 8 =270+ 30X 50%=285 (f)

BRI % =34200/285=120 (T/f4)

56 177 Bemn 4 th BEMRL=270X 120=32400 (J5)

HEAN LA E=17100/285=60 (J5/{4)

SE L hFE H E 2 A T =270 X60=16200 (JG)

)38 2% /3 Bt %2 =51300/285=180 (7t./f4)

5E L7 R in % il i 9% FH =270 X 180=48600 (JG)

(2) DIEMAER]Y 7B AR I Ji v R
20X 8 4F 6 B JT
SH
L Ei%ﬁ %&)\ EJLE% o
I J R P R A 95040 32400 [16200 48600 |192240
A H Fi7= 2 Bt A 20160 30240 |50400 |100800
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2025 M4 ITE RS VA %% A 2 mnﬁaﬁﬁﬁ
FAR IR iR —95040 [19008 (28512 47520 |0
GG 7 s A 51408 [44712 96120 |192240
5 77 Bt B RUAR 190.4 |165.6 [356 712

54

TR

RS IE J5 B AR =95040,/100800 X 20160= 19008 (Jt)
A IE JR B 4% N T.=95040/100800 X 30240=28512 (JT)
RS I J5 i 3% F = 95040,/ 100800 X 50400=47520 (75)
I JE S 77 B B R AR = 192240/270="T712 (JT/f4)

4. (D DEMEZR] REME RN FHou

it H A B oE
AR 4= R0 25 27.3
PN S A ON 2450 3300
AT LS A B30 4 2475 3327. 3
W BT
PRLR 1074 1656
N T A 520 600
il 1 2% H 312 360
B AN B 2 50 50
Fr 1585 9% 20 20
) S % 850 350
W43 AT 2826 3036
W42 REA 2 —351 291. 3
s A R 390
Pk VIR A K 250
W SCATHRERCRIE 117 11.7
e i [ e AR R
R TR
e WiC B R R S
WIAR IR 27.3 29. 6
941
THE U

(1) H—ZFH RN EIA=200+ (800—200) /40%X 30%+ 25X 120X 60%=2450 (J3 IG)
BB RIS = (800—200) /40%X 10%~+ 25X 120X 30%+30X 125X 60%=3300 ( J37C)
(2) kA= 8 = FrHa5 8 & + W0 AR 72 Bl 0 — vt BT 7 Bl
BB R =254+30X20%—5=26 (Ji{f)
A PR =230430 X 20%— 30X 20%=30 (/1)
B —ZE M RERIG AT =450+26 X 20 X 3X 40%=1074 (J375)
B BEERRER AL =26 X 20 X 3 X 60%+ 30X 20 X 3X 40%=1656 (Ji75)
(3) F—FENTHRAFTI=26X2X10=520 (J3J0)
B N TRASTH=30X2X10=600 (J370)
(4) FH—FEHEHR A =26X2X6=312 (Jjt)
R HE R HAATI=30X2X6=360 (Jiit)
(5) WE—ZERIAME K A Jiot:
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PN iE R =it
2025 A& HITE RIS % R [FiFaitma

M —3514+A—AX3%=20, f#fF: A=382.47, HTREHN 10 JCHBEELE, Bk 390 7
TCo B—EEXAIFE=390X3%=11.7 (Jigt) -

(6) HTHE FEIELZR 291.3 fign, AEUEEEMRER (390 /5t) , B AT
BT EIRE . B B RLSE IS ECON B g, M. 291.3—B—11.7=20, f#f3:B<259.6
(Jige) , HMTIRFK&EHN 10 JiumBEss, Fril, ROZiEsk 250 Jit.

M. &8
1. (D [EMEE]

T H B35 4 5 AL AF =50/ (100—50) =1

B 2 A (358 4 AT AF =30/ (100—30) =0.43 (1 43)

WHM B p=1.149/[140. 43X (1—20%) ]1=0.855

T H M B s=0. 855X [1+1X (1—20%) ]=1.54
THM R EAEA =4 3%+1.54X (9.3%—4.3%) =12% (2 4})
I H BT ZE =12%X 50%+10%X (1—20%) X50%=10% (1 %3)

(2) [IEHEZR]

[l 5 B4R IH= (750—50) /5=140 (Ji75) (0.5 %)

BV ERE= (1000—720—40—140) X (1—20%) +140=220 (Ji7t) (0.5

(2R ] RS A EE T EE VIR ERE, BE I & BRE=-BATEE R X (- FrEs
B I CEREE)

NPV=—750—250+220X (P/A, 10% 5) + (504+250) X (P/F, 10%, 5)

=20.25 (i) (24)

(3) [IEMZE%E]

TEMENL R B 225 J0/M: BT ampmmwsn N 198 J6/ M mweemen N 44 J3 oG FRAEN 45
JiJts BIBBEARN 275 JiTt.

[ 5 WP 4R IH= (750—45) /5=141 (J375) (14}

BRI E R =225 X4— 198X 4—44—141=—77 (Jijt) (14}

B SRR E=-TTX (1-20%) +141=79.4 (J;i7t) (14}

NPV=—750—275+79.4X (P/A, 10%, 5) + (454275) X (P/F, 10%, 5) =—525.32 (JijG)
(143

(O [IEMEE]

WRRTZERE RN 0 FEME N X, (250—180) X—40—140=0, f#fF: X=2.5714 (Jiff) . (1
)

WEN LG EBREN O MEMNEANY, [ (250—180) Y—40—140] X (1—20%) +140=0, f#5:
Y=0.0714 (Jiff) o (143

BHRPE N 0 FIEEEAN Z, NPV=—1000+{ [ (250—180) Z—40—140] X (1—20%) + 140} X
(P/A, 10% 5) + (2504+50) X (P/F, 10%, 5) =0, fi#f5: 72=3.9046 (HM) . (14
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